
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 37

OIL TANK
Item
No. Part No Description Qty.

Req. Price
1-12 656-860 OIL TANK ASSEMBLY UNF 1a $827.13
1-12 656-865 OIL TANK ASSEMBLY METRIC 1b $811.91

1 956-426 OIL TANK ASSEMBLY WITH BAFFLE INSERT 1 CALL
2 250-010 GASKET RING C 12x18 1 $1.71
3 241-408 HEX. SCREW M12x12 1 $43.71
5 956-204 BAFFLE INSERT 1 $67.19
6 850-491 O-RING 145x6-N, HNBR 70 1 $31.55
8 951-817 PROFILE CLAMP 163 1 $72.58
9 230-150 SEALING RING A 10x14 1 $1.09

10 641-733 PLUG SCREW M10x1 1 $10.70
11 956-151 OIL DIPSTICK 1 $18.68
12 974-647 OIL TANK COVER, WITHOUT VENTING 1 $32.15
13 297-555 SAFETY WIRE 0.8 1 CALL
14 956-610 HOSE NIPPLE WITH UNION NUT ARb $20.91
15 956-580 BENT SOCKET ARb CALL
16 853-725 CLAMP SP 17/9 4 CALL
17 956-394 OIL TUBE OLNS 1 12x19 AR CALL

- Items not illustrated  /  AR: as required  /  NLA: not available 
a   UNF thread size 3/4” - 16 UNF
b 	 metric thread M18 x 1.5 mm

912 iSERIES ENGINE
EXHAUST SYSTEM, EXHAUST 
TEMPERATURE SENSOR
Item
No. Part No Description Qty.

Req. Price
1-7 973-676 EXHAUST SYSTEM (1) $970.31
1 973-674 MUFFLER ASSEMBLY (1) $919.72
2 978-605 EXHAUST ELBOW, STAINLESS (1) $86.75
3 978-521 BALL JOINT, MALE STAINLESS (4) $25.82
4 978-998 EXHAUST TUBE 800 MM, STAINLESS (4) $87.51
5 978-500 EXHAUST ELBOW ASSEMBLY 360° STAINLESS (2a) CALL
6 853-356 HOOK (16) $2.13
7 938-796 SPRING 66 MM (8) CALL
8 951-360 SENSOR HOLDER (4) $18.88
9 978-246 EXHAUST FLANGE (4) $32.61

10 978-252 EXHAUST SOCKET (4) $31.70

- Items not illustrated
a 	 360° circular ring
b 	 not certified for 912 iSc Sport

EXHAUST SYSTEM (STANDARD)
Item
No. Part No Description Qty.

Req. Price
1-8,12 973-380 EXHAUST ASSORTMENT STAINLESS (1) $1,450.00

1 973-388 MUFFLER ASSEMBLY (1) $1,011.00
2 973-010 EXHAUST PIPE ASSEMBLY CYLINDER 1 (1) CALL
3 973-020 EXHAUST PIPE ASSEMBLY CYLINDER 2 (1) $653.98
4 973-030 EXHAUST PIPE ASSEMBLY CYLINDER 3 (1) $581.42
5 973-040 EXHAUST PIPE ASSEMBLY CYLINDER 4 (1) $653.98
6 973-390 EXHAUST BELOW, STAINLESS (1) $249.95
7 938-796 SPRING 66 MM (9) CALL
8 951-550 EXHAUST PIPE CLAMP ASSEMBLY (1) $22.30
9 297-555 SAFETY WIRE 0.8 AR CALL

10 940-368 STUD M8x23/20 (8) $6.50
11 842-950 LOCK NUT M8-WS12 (8) $2.66
12 841-115 HEX. SCREW M8X1X10 (4) CALL
13 866-261 TEMPERATURE SENSOR (4) $193.00
14 230-150 SEALING RING A 10x14 (4) $1.09
15 942-273 CAP NUT M14x1.5 (4) $18.52

- Items not illustrated

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/656-860.php
https://www.cps-parts.com/catalog/pnpages/656-865.php
https://www.cps-parts.com/catalog/pnpages/956-426.php
https://www.cps-parts.com/catalog/pnpages/250-010.php
https://www.cps-parts.com/catalog/pnpages/241-408.php
https://www.cps-parts.com/catalog/pnpages/956-204.php
https://www.cps-parts.com/catalog/pnpages/850-491.php
https://www.cps-parts.com/catalog/pnpages/951-817.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/956-151.php
https://www.cps-parts.com/catalog/pnpages/974-647.php
https://www.cps-parts.com/catalog/pnpages/297-555.php
https://www.cps-parts.com/catalog/pnpages/956-610.php
https://www.cps-parts.com/catalog/pnpages/956-580.php
https://www.cps-parts.com/catalog/pnpages/853-725.php
https://www.cps-parts.com/catalog/pnpages/956-394.php
https://www.cps-parts.com/catalog/pnpages/973-676.php
https://www.cps-parts.com/catalog/pnpages/973-674.php
https://www.cps-parts.com/catalog/pnpages/978-605.php
https://www.cps-parts.com/catalog/pnpages/978-521.php
https://www.cps-parts.com/catalog/pnpages/978-998.php
https://www.cps-parts.com/catalog/pnpages/978-500.php
https://www.cps-parts.com/catalog/pnpages/853-356.php
https://www.cps-parts.com/catalog/pnpages/938-796.php
https://www.cps-parts.com/catalog/pnpages/951-360.php
https://www.cps-parts.com/catalog/pnpages/978-246.php
https://www.cps-parts.com/catalog/pnpages/978-252.php
https://www.cps-parts.com/catalog/pnpages/973-380.php
https://www.cps-parts.com/catalog/pnpages/973-385.php
https://www.cps-parts.com/catalog/pnpages/973-010.php
https://www.cps-parts.com/catalog/pnpages/973-020.php
https://www.cps-parts.com/catalog/pnpages/973-030.php
https://www.cps-parts.com/catalog/pnpages/973-040.php
https://www.cps-parts.com/catalog/pnpages/973-390.php
https://www.cps-parts.com/catalog/pnpages/938-796.php
https://www.cps-parts.com/catalog/pnpages/951-550.php
https://www.cps-parts.com/catalog/pnpages/297-555.php
https://www.cps-parts.com/catalog/pnpages/940-368.php
https://www.cps-parts.com/catalog/pnpages/842-950.php
https://www.cps-parts.com/catalog/pnpages/841-115.php
https://www.cps-parts.com/catalog/pnpages/866-261.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/942-273.php
https://www.cps-parts.com/catalog/pnpages/866-261.php
https://www.cps-parts.com/catalog/pnpages/853-356.php
https://www.cps-parts.com/catalog/pnpages/940-368.php
https://www.cps-parts.com/catalog/pnpages/940-368.php
https://www.cps-parts.com/catalog/pnpages/297-555.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/842-950.php
https://www.cps-parts.com/catalog/pnpages/942-273.php
https://www.cps-parts.com/catalog/pnpages/973-390.php
https://www.cps-parts.com/catalog/pnpages/951-817.php
https://www.cps-parts.com/catalog/pnpages/974-647.php
https://www.cps-parts.com/catalog/pnpages/956-610.php
https://www.cps-parts.com/catalog/pnpages/250-010.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/850-491.php
https://www.cps-parts.com/catalog/pnpages/956-204.php
https://www.cps-parts.com/catalog/pnpages/241-408.php
https://www.cps-parts.com/catalog/pnpages/956-151.php
https://www.cps-parts.com/catalog/pnpages/978-605.php
https://www.cps-parts.com/catalog/pnpages/978-252.php
https://www.cps-parts.com/catalog/pnpages/978-521.php
https://www.cps-parts.com/catalog/pnpages/978-246.php
https://www.cps-parts.com/catalog/pnpages/951-360.php
https://www.cps-parts.com/catalog/pnpages/978-998.php
https://www.cps-parts.com/catalog/pnpages/973-674.php

